Theorem 4.4.2: For any number field K of degree n over Q we have  

$$V_{12} = \left\{ h_{20} \right\} \in \mathbb{C}^{\sum} \left\{ \frac{\forall c}{b_{5}} = \overline{c_{5}} \right\}$$

$$\int M_{11} = \frac{n^{n}}{n!} \cdot \left(\frac{\pi}{4}\right)^{n/2}$$

$$\int M_{12} = \frac{1}{2} h_{12} + \frac{$$

$$F > a \Rightarrow I_{r,s} [1] = \int_{0 \le k,k} \left( \int_{-\infty}^{-\infty} - \dots \right) dx_{1}$$

$$= \int_{0 \le k,k}^{1} I_{r,n,s} \langle n - x_{1} \rangle dx_{1} = \int_{0}^{1} \langle n - x_{1} \rangle dx_{1}$$

$$= \int_{0}^{1} I_{r,n,s} \langle n - x_{1} \rangle dx_{1} = \int_{0}^{1} \langle n - x_{1} \rangle dx_{1}$$

$$= -\frac{\langle n - x \rangle^{n}}{n} \cdot I_{r,n,s} \Big|_{a}^{1} = \frac{n}{n} \cdot I_{r-1,s}$$

$$\Rightarrow I_{r,s} (1) = \frac{n}{n(n-1) \cdots (ls+1)} \cdot I_{0,s} [n] = \frac{1}{n!} \cdot I_{0,s} (n)$$

$$S > P \Rightarrow I_{0,s} (n) = \frac{n}{ls} \cdot \frac{n}{ls-1} \cdot I_{0,s} [n]$$

$$= I_{0,s} [n] = \frac{1}{\langle 2s \rangle_{1}^{1}} \cdot I_{0,s} [n] = \frac{1}{\langle 2s \rangle_{1}^{1}} \cdot I_{0,s} [n]$$

$$\Rightarrow ml(X_{t}) = \frac{1}{\langle 1, 2 \rangle_{1}^{1}} \cdot \frac{1}{\langle 1, 2 \rangle_{1}^{1}} \cdot I_{r,s} [n]$$

$$= \frac{\pi^{s} \cdot 2^{n}}{n!} \cdot t^{n+s} \quad f_{r,s} [n]$$

$$\begin{aligned} & \operatorname{Free} \quad f \ge 0 \quad \operatorname{chan} \quad t \ge 0 \quad \operatorname{chal} \quad \operatorname{chal} \quad t \stackrel{n}{=} n \stackrel{!}{\cdot} \left( \frac{l_{k}}{m} \right)^{s} \cdot \left( \operatorname{Id}_{k} \right)^{s} + E. \\ & = n \stackrel{!}{\cdot} \left( \frac{l_{k}}{m} \right)^{s} \cdot \left( \operatorname{Id}_{k} \right)^{s} + E. \\ & = n \stackrel{!}{\cdot} \left( \frac{l_{k}}{m} \right)^{s} \cdot \left( \operatorname{Id}_{k} \right)^{s} + E. \\ & = n \stackrel{!}{\cdot} \left( \frac{l_{k}}{m} \right)^{s} \cdot \left( \operatorname{Id}_{k} \right)^{s} + E. \\ & = n \stackrel{!}{\cdot} \left( \frac{l_{k}}{m} \right)^{s} \cdot \left( \operatorname{Id}_{k} \right)^{s} + E. \\ & = n \stackrel{!}{\cdot} \left( \frac{l_{k}}{m} \right)^{s} \cdot \left( \operatorname{Id}_{k} \right)^{s} + E. \\ & = n \stackrel{!}{\cdot} \left( \frac{l_{k}}{m} \right)^{s} \cdot \left( \operatorname{Id}_{k} \right)^{s} + E. \\ & = n \stackrel{!}{\cdot} \left( \frac{l_{k}}{m} \right)^{s} \cdot \left( \operatorname{Id}_{k} \right)^{s} + E. \\ & = n \stackrel{!}{\cdot} \left( \frac{l_{k}}{m} \right)^{s} \cdot \left( \operatorname{Id}_{k} \right)^{s} + E. \\ & = n \stackrel{!}{\cdot} \left( \frac{l_{k}}{m} \right)^{s} \cdot \left( \operatorname{Id}_{k} \right)^{s} + E. \\ & = n \stackrel{!}{\cdot} \left( \frac{l_{k}}{m} \right)^{s} \cdot \left( \operatorname{Id}_{k} \right)^{s} + E. \\ & = n \stackrel{!}{\cdot} \left( \frac{l_{k}}{m} \right)^{s} \cdot \left( \operatorname{Id}_{k} \right)^{s} + E. \\ & = n \stackrel{!}{\cdot} \left( \frac{l_{k}}{m} \right)^{s} \cdot \left( \operatorname{Id}_{k} \right)^{s} \cdot \left( \frac{l_{k}}{m} \right)^{s} \cdot \left( \operatorname{Id}_{k} \right)^{s} \\ & = n \stackrel{!}{\cdot} \left( \frac{l_{k}}{m} \right)^{s} \cdot \left( \operatorname{Id}_{k} \right)^{s} \cdot \left( \frac{l_{k}}{m} \right)^{s} \cdot \left( \operatorname{Id}_{k} \right)^{s} \\ & = n \stackrel{!}{\cdot} \left( \frac{l_{k}}{m} \right)^{s} \cdot \left( \operatorname{Id}_{k} \right)^{s} \cdot \left( \frac{l_{k}}{m} \right)^{s} \cdot \left( \operatorname{Id}_{k} \right)^{s} \\ & = n \stackrel{!}{\cdot} \left( \frac{l_{k}}{m} \right)^{s} \cdot \left( \operatorname{Id}_{k} \right)^{s} \cdot \left( \operatorname{Id}_{k} \right)^{s} \cdot \left( \operatorname{Id}_{k} \right)^{s} \\ & = n \stackrel{!}{\cdot} \left( \operatorname{Id}_{k} \right)^{s} \cdot \left( \operatorname{Id}_{k} \right)^{s} \cdot \left( \operatorname{Id}_{k} \right)^{s} \cdot \left( \operatorname{Id}_{k} \right)^{s} \\ & = n \stackrel{!}{\cdot} \left( \operatorname{Id}_{k} \right)^{s} \cdot \left( \operatorname{Id}_{k} \right)^{s} \cdot \left( \operatorname{Id}_{k} \right)^{s} \cdot \left( \operatorname{Id}_{k} \right)^{s} \\ & = n \stackrel{!}{\cdot} \left( \operatorname{Id}_{k} \right)^{s} \cdot \left( \operatorname{Id}_{k} \right)^{s} \cdot \left( \operatorname{Id}_{k} \right)^{s} \\ & = n \stackrel{!}{\cdot} \left( \operatorname{Id}_{k} \right)^{s} \cdot \left( \operatorname{Id}_{k} \right)^{s} \cdot \left( \operatorname{Id}_{k} \right)^{s} \cdot \left( \operatorname{Id}_{k} \right)^{s} \\ & = n \stackrel{!}{\cdot} \left( \operatorname{Id}_{k} \right)^{s} \cdot \left( \operatorname{Id}_{k} \right)^{s} \cdot \left( \operatorname{Id}_{k} \right)^{s} \cdot \left( \operatorname{Id}_{k} \right)^{s} \\ & = n \stackrel{!}{\cdot} \left( \operatorname{Id}_{k} \right)^{s} \cdot \left( \operatorname{Id}_{k} \right)^{s} \cdot \left( \operatorname{Id}_{k} \right)^{s} \cdot \left( \operatorname{Id}_{k} \right)^{s} \\ & = n \stackrel{!}{\cdot} \left( \operatorname{Id}_{k} \right)^{s} \cdot \left( \operatorname{Id}_{k} \right)^{s$$

$$\begin{array}{l} \overbrace{ x \dots p l } : \ n = 2 \implies | \ | \ d_{\mathcal{U}} | \ \geq \left\{ \begin{array}{l} \left( \frac{2^{L}}{U!} \right)^{L} = 4 & \text{if real public} \end{array} \right. \\ \left. \left( \frac{2^{L}}{U!} \right)^{L} = \frac{1}{4} & \text{if real public} \end{array} \right. \\ \left. \left( \frac{2^{L}}{U!} \right)^{L} = \frac{1}{4} & \text{if real public} \end{array} \right. \\ \left. \left( \frac{2^{L}}{U!} \right)^{L} = \frac{1}{4} & \text{if real public} \end{array} \right. \\ \left. \left( \frac{2^{L}}{U!} \right)^{L} = \frac{1}{4} & \text{if real public} \end{array} \right. \\ \left. \left( \frac{2^{L}}{U!} \right)^{L} = \frac{1}{4} & \text{if real public} \end{array} \right. \\ \left. \left( \frac{2^{L}}{U!} \right)^{L} = \frac{1}{4} & \text{if real public} \end{array} \right. \\ \left. \left( \frac{2^{L}}{U!} \right)^{L} = \frac{1}{4} & \text{if real public} \end{array} \right. \\ \left. \left( \frac{2^{L}}{U!} \right)^{L} = \frac{1}{4} & \text{if real public} \end{array} \right. \\ \left. \left( \frac{2^{L}}{U!} \right)^{L} = \frac{1}{4} & \text{if real public} \end{array} \right. \\ \left. \left( \frac{2^{L}}{U!} \right)^{L} = \frac{1}{4} & \text{if real public} \end{array} \right. \\ \left. \left( \frac{2^{L}}{U!} \right)^{L} = \frac{1}{4} & \text{if real public} \end{array} \right. \\ \left. \left( \frac{2^{L}}{U!} \right)^{L} = \frac{1}{4} & \text{if real public} \end{array} \right. \\ \left. \left( \frac{2^{L}}{U!} \right)^{L} = \frac{1}{4} & \text{if real public} \end{array} \right. \\ \left. \left( \frac{2^{L}}{U!} \right)^{L} = \frac{1}{4} & \text{if real public} \end{array} \right. \\ \left. \left( \frac{2^{L}}{U!} \right)^{L} = \frac{1}{4} & \text{if real public} \end{array} \right. \\ \left. \left( \frac{2^{L}}{U!} \right)^{L} = \frac{1}{4} & \text{if real public} \end{array} \right. \\ \left. \left( \frac{2^{L}}{U!} \right)^{L} = \frac{1}{4} & \text{if real public} \end{array} \right. \\ \left. \left( \frac{2^{L}}{U!} \right)^{L} = \frac{1}{4} & \text{if real public} \end{array} \right. \\ \left. \left( \frac{2^{L}}{U!} \right)^{L} = \frac{1}{4} & \text{if real public} \end{array} \right.$$

Lemma: The numbers 
$$\frac{n^n}{n!} \cdot \left(\frac{\pi}{4}\right)^{n/2}$$
 for  $n \ge 2$  are > 1 and tend to  $\infty$  for  $n \to \infty$ .  
Proof:  $a_2 = \frac{1}{2!} \cdot \left(\frac{\pi}{k}\right) = \frac{\pi}{2} > 1$ .  
 $\frac{a_{u+i}}{a_n} = \frac{(n+i)^{n+i}}{n^n} \cdot \frac{n!}{(n+i)!} \cdot \left(\frac{\pi}{k}\right)^{n/2} = \left(\frac{n+i}{n}\right)^n \cdot \sqrt{\frac{\pi}{k}} = \left(1 + \frac{\pi}{2}\right)^n \cdot \sqrt{\frac{\pi}{k}} \ge \left(1 + \pi + \frac{\pi}{2}\right) \cdot \sqrt{\frac{\pi}{k}} > 2\sqrt{\frac{\pi}{k}} > 1$ .  
 $= (a_n)_n$  shidle mondule interval.  
 $= a_n \ge a_2 \cdot \sqrt{\frac{\pi}{k}} - 1$  as  $k = -\infty$ .  
 $\frac{\pi}{k} = \frac{\pi}{k} - \frac{\pi}{k}$ .

Theorem 4.4.3: (Hermite) For any c there exist at most finitely many number fields  $K/\mathbb{Q}$  with  $|d_K| \leq c$ .  $\int \frac{d_{12}}{d_{12}} \leq c = 4$  and  $\leq \sqrt{|d_{12}|} = \sqrt{|u|} \leq c' = c_{12}c_{12}c_{12}$ .  $n := \lfloor k/k_{12} \rfloor$  This is write  $\int \frac{d_{12}}{d_{12}} = \frac{1}{2}c_{12}c_{12}c_{12}$ .

**Theorem 4.4.4:** (*Minkowski*) For any number field  $K \neq \mathbb{Q}$  we have  $|d_K| > 1$ .